saBmm Eegst N

B4R - Bz - B 1. $FRFRIE TR &L -

Z % - ol ARAKE - B 2. (REMBS » SRS -

A TSR - ISR s fL A

BB 0t - HEES - ARAREEFLEENMETLEER -
REWEIRE - 4. BHERRE > EEK » REELRETHE L ESRRELE ) »

WA RER TS NIRE -
5. & R 5G4 IMRET o AT INRLRERS -

6. T OEINEE -

A

x 3 JGF JGFR
EERZ EER | B RRER
FL @20 - @25 ~ @32 ~ P40 - @50 ~ P63
dzhi ] ZE &
] 1.2MPa(12kgf/cm?)
EREN 0.15~0.97MPa(1.5~9.9kgf/cm?)
FREE 50~300mm/sec
ERREE -10°C~+70°C ( FEIFEKAREE )
B i
fa 2SO VG32 WAEE N
TBE
‘wr| (R (25 x 0, (oAss (2
\
x 3 B =% i 17 12 RFESRTELE RESSHE
[ [ [ [
TD-A93 TD-M9P TA-11N
020 (iEsETi2E | [TOMON TDMOB w1 18
ZE Z/ w2 | (2] 2f
7® 32 @20~@501 232~@631E A

@40 TD-A93V '
TD-MINV

@50 TD-M9PV

@63

@20~0501% A

= 10 X EMREESEBI41.01
E E 1Tk -18143.01 ~[8143.03-

JGFiZ#ERITIE JGFR R EEITIE




ESLES
0 JGFBHAERE

2-D P

jiE==m
e
Y
&

C+1778
R B+17%2
4-N J 2-0V S |E A+1T7i2

U
F
N
N\
\_J_‘
R
oW
G
OH

4-MM

gX

GRS
@20 | 20 | 26 | 33 | 30 | 36 | 43 | M5X0.8

24 | 36 |34 |24 12 | 10 | M6X1.0 | 45 | 145
28| — |40 28| 14 - M6X1.0 7 17
@32 | 25 | 32 42.5| 35 | 42 |52.5| PT1/8” 34 1495 45 | 34 | 17 | 14 | M6X1.0 7 17
@40 | 26 | 33 | 44 36 | 43 | 54 | PT1/8” 40 | 57 | 52|40 20 | 15 | M8X1.25 | 7.5 | 225
@50 | 28 [36.5| 51 | 38 |46.5| 61 | PT1/4” |85 48 | 71 | 62 |48 | 24 | 18 | M8X1.25 8 28
@63 | 32 | 41 |55.5 42 | 51 |65.5| PT1/4” | 9 | 60 845 75|60 30 | 18 | M8X1.25 | 85 | 255

@25 21|27 35| 31| 37 | 45 | M5X0.8

N[N | O | O [

@20 | 17 | @4.258%F (6.5 H,M5X0.8/ ) 7 6.5 32 DOHEINIFRA;D3. 4B ZF 8
@25 | 20 | ©5.28EZF (DM E,M6X1.0/ H) 8 9 38 DO xR4;D3. 4B ZF 10
@32 | 225 @5.258%F(Q9ME M6X1.0/IE) | 10.5 9 43 D61 I R4;D3. 45 ZF 12
G40 | 26 | D6.652ZF(D10ME,M8X1.25/ME) | 11 10 51 DBHEIIRE;D4 558 ZF 16
@50 | 31 | 26.85BZF(G11/ME,M8X1.25/ME) | 14.5 | 11 61 @101 371%6;D5.558 ZF 20
@63 | 37.5 | ¥6.85EZF (O 11/ E,M8X1.25ME) | 14.5 | 11 74 1011 371%6;D5.558 ZF 20

X
5
6
6
8
8
8

3 13.14



